Problem set 4

Thursday, October 20, 2016 11:29 PM

1.6yList elements of %AGYC’LI,Z,S,LI’%)l AL s even%-
b) List elemerts of SAcP(S1,2,3,4%) | Al is odd ¢ .

9. (De'l:er‘rm'ne, the ‘l'er\—VoJue. o\D— the Hh;mma v?ror‘:osi":'lbns:
2 2
@ [§54%, $xeR | xyo » X-1)—0FF|=1.

&) 3@t < $1,38%% -
) ﬁ_i,k ,Sz‘x,e‘ﬂll x203%|=2.

3. Le‘t’ X Le (1N se'l:.
@ Prove that, for any ACK, we hove A A=A
@) Prove '[Thocl',‘Por ama AcX, we }lo\vc /'\AA———g

G Prove that, Por any AB ceX, we hove
AAR =AAC = B=C
(Hidk . You are allocded to use (EaF)aG=EA(F2AG) .)

4.?rove,‘|qor any rPosi'hV& l}\'l'feaer' N Gnd Ag‘{i,z,...,n},
coe  have Al is even <« [AAS4Z] s odd.

5. let X be aset. Pove thit for any AB,CCX we have:
@) ACB <« AnB=A.
b) (@O’Bz AaC) A (AUB=AUC)>=? B=C.
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